
07/03/2018



REF. DESCRIPTION COMPOSITION FOTO

Fastener support cap (16units)

For machines with serial number subsequent to 218197. Caps used as well 

in reference S3300100:00

Cleaning brush

Valid for all the serial numbers of Speed

Allen Cap M8 (4Units) + Allen Cap M6 (4Units) + Allen Cap M5 (2Units)

Valid for all the serial numbers of Speed

Speed Pro Gearbox cap

Valid for Speed PRO Tank and Self service without EW system, from the 

serial number 420009

Right bottle rack anchor + Left bottle rack anchor + DIN 125 Washer D6 

S.S (2Units) + DIN 127 Washer D6 (2Units) + DIN 934 Nut M6 (2Units) + 

Bottle Rack Clamp + DIN 912 Screw M4 + DIN 934 Nut M4 + DIN 125 

Washer D4 + DIN 127 Washer D4

Valid for all bottle racks of the Speed

Syncronization tool for squeezer gear group

Valid for all Speed serial numbers

2 x security knobs M5x16 Stainless Steel

Valid for all Speed serial numbers

Asp right peel ejector

For machines with serial number subsequent to 207530

S3300000:00

S3300002:00

S3300010:03

S3300003:00

S3300004:00

S3300005:00

S3300006:00

S3300007:00

FASTENER SUPPORT CAPS

SPEED PRO GEARBOX CAP

SPEED BOTTLE RACK ANCHOR 

KIT

CLEANING BRUSH

RIGHT PEEL EJECTOR

SYNCHRONIZATION TOOL

FEEDER ELBOW SECURING 

KNOBS

SPARE PARTS CATALOGUE 2018

SPEED

SPEED ALLEN CAPS

(07/03/2018)

Pag. 2 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Asp left peel ejector

For machines with serial number subsequent to 207530

Asp left peel ejector + ASP right peel ejector

For machines with serial number subsequent to 207530

Plastic retaining knob (2units)

Valid for Speed machines until serial number 421962

Speed PRO retaining knob (3units)

Valid for all the serial number of Speed PRO

Peel ejector shovel

For machines with serial number previous to 207530

Peel ejector pivot holder (2units)

For machines with serial number subsequent to 207530

Peel ejector pivot holder (2units)

Valid for all Speed S Plus machines

Fastener holder + Fastener with stainless steel spring + Silicone joint + 

Cap (4units) + DIN 912 screw (4units)

For all machines with serial number subsequent to 218197

S3300020:03

S3300035:01

S3300040:00

S3300041:00

S3300050:00

S3300060:00

S3300100:01

S3300076:00

ASP PEEL EJECTORS KIT

SPEED PRO RETAINING KNOB 

(3uts)

PEEL EJECTOR SHOVEL

PEEL EJECTORS PIVOT HOLDERS 

(2uts)

FASTENER W/SCREWS v2.0

PLASTIC RETAINING KNOB (2uts)

SPEED S PLUS STEEL FRONT 

CAP

LEFT PEEL EJECTOR

(07/03/2018)

Pag. 3 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Bearing 6007 2RS (2units)

Valid for all the serial numbers of Speed

Blade holder V 1.0

For machines with serial number previous to 207530

Asp Blade holder V 2.1

For all machines with serial number subsequent to 207530

Asp Quick extraction Blade holder

Valid for all Speed S  Plus machines

Kit 95 Blade holder

Valid for all the serial numbers of Speed Pro with the 95 Kit installed

Seeger ring (4units)

Valid for all the serial numbers of Speed

Asp upper plastic pressing (2units)

Valid for all the serial numbers of Speed

Asp upper plastic pressing unit for 1 STEP KIT(2units)

Valid for all the serial numbers of Speed S PLUS

S3300131:00

S3300241:00

S3300150:00

S3300240:01

S3300110:00

S3300120:00

S3300130:01

S3300133:01

6007 2RS BEARINGS (2uts)

BLADE HOLDER v1.0

SPEED S PLUS BLADE HOLDER

KIT L BLADE HOLDER

ASP BLADE HOLDER  V2.2

JUICERS SEEGER RING KIT

ASP UPPER PRESSING UNIT 

(2uts)

ASP 1 STEP UPPER PRESSING 

UNIT (2uts)

(07/03/2018)

Pag. 4 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Asp Kit 65 upper plastic pressing (2units)

Valid for all the serial numbers of Speed with the 65 Kit installed

Kit 95 upper plastic pressing (2units)

Valid for all the serial numbers of Speed Pro with the 95 Kit installed

Internal separator (4units)

Valid for all the serial numbers of Speed

Base rubber

Valid for all the serial numbers of Speed

Fastener 40x62x7DL with stainless steel spring

For machines with serial number between 88891 and 218924

Asp lower plastic pressing unit (2units)

Valid for all the serial numbers of Speed

Asp lower plastic pressing unit for 1 STEP KIT(2units)

Valid for all the serial numbers of Speed S PLUS

Asp Kit 65 lower plastic pressing unit (2units)

Valid for all the serial numbers with the 65 Kit installed

S3300242:00

S3300250:00

S3300243:00

S3300311:00

S3300260:00

ASP KIT S UPPER PLASTIC 

PRESSING UNIT (2uts)

KIT L UPPER PLASTIC PRESSING 

UNIT (2uts)

BEARINGS SEPARATOR KIT

SPEED BASE RUBBER

ASP LOWER PRESSING UNIT 

(2uts)

S3300270:00

S3300310:02

S3300312:00
ASP KIT S LOWER PLASTIC  

PRESSING UNIT (2uts)

40X62X7DL FASTENER WITH 

SPRING

ASP 1 STEP LOWER PRESSING 

UNIT (2uts)

(07/03/2018)

Pag. 5 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Kit 95 lower plastic pressing unit (2units)

Valid for all the serial numbers of Speed Pro with the 95 Kit installed

Complet feeder gear box

Valid for all the serial numbers **In machines with serial numbers previous 

to 353371 the numbers 353375, 353376, 353377 included, assemble with 

the reference S3301080:00

Speed feeder plate

Valid for all the serial numbers of Speed

Left support + Peel ejector shovel + DIN 933 (2units) + DIN 9021 Washer 

(2units) + DIN 1587 Nut (2units)

For machines with serial number between 163000 and 207530

Right support + Peel ejector shovel + DIN 933 (2units) + DIN 9021 Washer 

(2units) + DIN 1587 Nut (2units)

For machines with serial number between 163000 and 207530

Straight support + Peel ejector shovel + DIN 933 (2units) + DIN 9021 

Washer (2units) + DIN 1587 Nut (2units)

For machines with serial number previous to 163000

220/240V Electronic module (24V)

For all 230V Speed Self Service, Basic and Tank until the serial number 

421772

115V Electronic module

For all 115V Speed Self Service, Basic and Tank until the serial number 

421772

S3300313:00

S3300380:00

S3300390:00

S3300410:00

S3300431:00

KIT L LOWER PLASTIC PRESSING 

UNIT (2uts)

SPEED FEEDER GEARING KIT

INCLINED LEFT P. EJECTOR KIT

SPEED FEEDER PLATE

S3300440:00 115V ON/OFF ELECTR. MODULE

S3300330:00

S3300340:00

INCLINED RIGHT P. EJECTOR KIT

STRAIGHT PEEL EJECTOR KIT

ELECTRONIC MODULE ON/OFF 

230V (24V)

(07/03/2018)

Pag. 6 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

115V Digital module + 3V Lithium battery

For all 115V Speed Digital until the serial number 421962

230V Photocell control module

For all 230V Speed Cooler until the serial number 420742

115V Photocell control module

For all 115V Speed Cooler until the serial number 420742

Stainless steel blade yoke kit base + Blade rear side + Blade hinge + Blade 

holder V 2.1 + DIN 7991 Screw (2uds)

To update the machines with serial number previous to 207530

Button rubber protection

Only for machines with serial number subsequent to 382494 **For 

machines previous to this serial number must use the kit S3300850:00

Securing knob (2units) + Silicone joint (2 units)

Valid for all the serial numbers of Speed

Securing knob (2units) + Silicone joint (2 units)

Valid for all Speed PRO with Kit L installed

Speed PRO Basic Juice container + Gasket

Valid for Speed PRO Basic and Cooler model. Besides is compatible with 

the Speed Basic, Tank and Cooler with serial number between 207530 and 

421962

S3300470:00

S3300480:00

S3300580:00

S3300591:00

S3300670:01
SECURING KNOBS + RUBBER 

JOINT (2uts)

230V FRESH CONTROL MODULE

115V COOLER CONTROL MODULE

S3300460:00 115V UL DIGITAL MODULE

STAINLESS STEEL  BLADE YOKE 

KIT

BUTTON RUBBER PROTECTION 

ROUNDED

S3300680:01 SPEED PRO JUICE TRAY

S3300671:00 KIT L SECURING KNOB (2uts)

(07/03/2018)

Pag. 7 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Stainless Steel juice tray frontal output + DIN 7991 Screw (4units)

For machines with serial number between 214370 and 421772.  Can be 

used for machines with serial number from 206462

Speed Pro Self Service juice container + Slider case

Valid for Speed PRO Self Service model, with serial number between 

420009 and 426320

Speed Pro Tank juice container

Valid for Speed PRO Tank model, from the serial number 420009

Speed Pro Self Service juice container + Slider case

Valid for Speed PRO Self Service model, from the serial number 426321 

*Juice container for using with the tap S3301230:01 or S3301232:00 and 

the filter S3300963:00

Stainless steel clasic base + GPN 300 Black cap + Base profile

Valid for all the Speed machines until the serial number 421962

Speed Pro Basic and Self Service Stainless steel base + Juice container 

detector wall Bypass + Tap detector wall Bypass + Base profile

Valid for all machines of models Speed PRO Basic and Self Service, from 

the serial number 420009

Speed Pro Tank and Cooler Stainless steel base + Juice container detector 

wall Bypass + Tap detector wall Bypass + Base profile

Valid for all machines of models Speed PRO Tank and Cooler, from the 

serial number 420009

Speed S Plus Self Base + Base Profile + DIN 1587 Nut + Monofase 

suppressor + DIN 125 Washer (2uts) + DIN 6798A Washer + DIN 912 

Screw M6 + DIN 912 M8 Screw (4uts) + DIN 125 Washer M8 (4uts)

Valid for all machines of model Speed S Plus Self Service

S3300690:00

S3300691:00

S3300681:00

S3300684:00

S3300692:00

SPEED STAINLESS STEEL BASE

S3300682:00

S3300683:00

SPEED PRO TANK & COOLER 

BASE

SPEED S PLUS SELF SERV. BASES3300693:00

SPEED PRO BASIC & SELF S. 

BASE

SPEED PRO SELF SERVICE TRAY

SPEED SELF SERVICE JUICE 

TRAY

SPEED TANK PRO JUICE 

CONTAINER

SPEED PRO SELF SERVICE TRAY 

DT

(07/03/2018)

Pag. 8 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Speed S Plus Tank Base + Base Profile + DIN 1587 Nut + Monofase 

suppressor + DIN 125 Washer (2uts) + DIN 6798A Washer + DIN 912 

Screw M6 + DIN 912 M8 Screw (4uts) + DIN 125 Washer M8 (4uts)

Valid for all machines of model Speed S Plus Tank

ON/OFF Switch + Silicone protector + NC/NO Switch body

Used in machines Speed until serial number 421962 and in Speed Self 

Service (Auto) with serial number between 214242 and 421772

ON/OFF Switch with Led+ Silicone protector + NC/NO Switch body

Valid for all machines Speed PRO, from the serial number 420009

AUTO - O - MAN Label + 2 Positions switchboard + NC/NO Switch body

Valid for machines with serial number between 214242 and 421772

Plate shaft + fastener + Holder fastener + O-ring joint + Security ring DIN 

472 + Bearing 6005 2RS (2uds) + Security ring DIN 471

Valid for all the serial numbers of Speed

Frontal tap stainless steel spring

For machines Speed Self Service (Auto) with serial number between 

206462 and 421772

DIN 6325 3X8 Stainless Steel Bolt + DIN 6325 3X10 Stainless Steel Bolt

For machines Speed Self Service (Auto) with serial number between 

206462 and 421772

Feeder elbow D85 w/Block + DIN 916 Screw + Heyco M5 Cap

Valid for all Speed machines with serial number between 200805 and 

421962

S3300850:00

S3300860:00

S3300880:00

S3300891:00

S3300892:00

S3300910:00

S3300694:00

SELF SERVICE SELECTOR KIT

ON/OFF SWITCH KIT

SPEED S PLUS TANK BASE

SPEED PRO SWITCH KITS3300851:00

STAINLESS STEEL TAP FRONT 

SPRING

STAINLESS STEEL TAP FRONT 

BOLTS

SPEED SHAFT PLATE KIT

SPEED FEEDER ELBOW

(07/03/2018)

Pag. 9 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Speed S Plus feeder elbow + DIN 916 Screw + Heyco M5 Cap

Valid for all machines Speed S Plus and for Speed PRO machines, from 

the serial number 420009

Feeder elbow D65 w/Block + DIN 916 Screw + Heyco M5 Cap

Valid for all Speed machines with 65 Kit installed and serial number 

between 200805 and 421962

Feeder elbow D65 w/Block + DIN 916 Screw + Heyco M5 Cap

Valid for all Speed PRO machines with 65 Kit installed, from the serial 

number 420009

Feeder elbow D95 w/Block + DIN 916 Screw + Heyco M5 Cap

Valid for all Speed PRO machines with "L" Kit installed, from the serial 

number 420009

Speed Plastic juice filter v.1.1

For all Speed Basic, Tank and Cooler machines with serial number 

between 207530 and 421962, valid for Speed PRO Basic and Cooler 

model.

Speed Self Serv. juice filter "W" diameter 4mm

For machines with serial number between 214370 and 421772.  Can be 

used for machines with serial number from 206462.

Speed Pro Sweeper juice filter + Speed Pro Filter rod + Speed Pro Filter 

lock + Speed Pro sweeper latch + Speed Pro Filter right limit + O-ring + 

DIN 965 Screw

Valid for Speed PRO Tank and Self service, from the serial number 

420009

Speed Pro juice filter "W" diameter 4mm

Valid for Speed PRO Tank and Self service *This filter is specific for using 

with the juice container S3300684:00, without sweeper brush

S3300911:02 SPEED S PLUS FEEDER ELBOW

S3300912:00

S3300961:00

S3300963:00

SPEED PRO / S PLUS KIT S 

FEEDER ELBOW

SPEED PRO / S PLUS KIT L 

FEEDER ELBOW

SPEED KIT S FEEDER ELBOW

SPEED SELF SERVICE JUICE 

TRAY FILTER

SPEED PRO JUICE TRAY FILTERS3300962:00

S3300912:02

S3300913:01

S3300960:00

SPEED PRO JUICE TRAY W 

FILTER

SPEED JUICE TRAY FILTER

(07/03/2018)

Pag. 10 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Speed Plastic inner filter

For all Speed Basic, Tank and Cooler machines with serial number 

between 207530 and 421962, valid for Speed PRO Basic and Cooler 

model.

Speed Self Serv. Inner filter

For machines with serial number between 214370 and 421772.  Can be 

used for machines with serial number from 206462.

Speed Pro Self Service Inner filter

Valid for Speed PRO Self service, from the serial number 420009

Speed Pro Tank Inner filter

Valid for Speed PRO Tank, from the serial number 420009

Speed feeder basket

Valid for all Speed machines with serial number between 200805 and 

421962

Speed Pro feeder basket

Valid for all machines Speed PRO, from the serial number 420009

230V Digital keyboard module + Connection bus

For all 230V Speed Digital machines with serial number previous to 

418109  *Until finish the stock, aternative reference S3301031:00

5V Digital keyboard module + Connection bus + Digital module 230V + 3V 

Lithium battery

For all 230V Speed Digital machines until serial number 421962

DIGITAL KEYBOARD KIT 230V

SPEED PRO FEEDER BASKET

DIGITAL MODULES 220V KIT

S3300973:00

S3300981:01

S3300970:00

S3301030:00

SPEED JUICE TRAY INNER FILTER

SPEED SELF SERV. PRO INNER 

FILTER

SPEED FEEDER BASKET

SPEED TANK PRO INNER FILTER

SPEED SELF SERVICE INNER 

FILTER

S3301031:00

S3300971:00

S3300972:00

S3300980:00

(07/03/2018)

Pag. 11 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

115V Digital keyboard module + Connection bus

For all 115V Speed Digital machines with serial number previous to 

418109 *Until finish the stock, alternative reference S3301041:00

5V Digital keyboard module + Connection bus

For all Speed Digital 230V machines with the serial number between 

418109 and 421962, and for all Speed Digital 115V until serial number 

421962

Complete gearbox shaft + Clasic feeder articulation assembled

Valid to update machines with serial number previous to 353371 included 

the numbers 353375, 353376 y 353377

Clasic feeder articulation assembled

Valid for all Speed machines with serial number 353371, 353372, 353373, 

353374, 353378 and subsequents, or machines updated with kit 

S3301070:00

220/230V 0.4CV 50/60Hz Motor + Triple wall bypass + Female connection 

box + DIN 933 Screws (4units) + Triple cable gland

Valid for all the serial numbers of 230V Speed

120V 0.5CV 60Hz Motor + Triple wall bypass + Female connection box + 

DIN 933 Screws (4units) + Triple cable gland

Valid for all the serial numbers of 115V Speed

L=600mm Magnetic detector + MFS Silicone joint + Flat joint + Nylon nut + 

Female connection box + Shell + Holder sheet + DIN 912 4x12 Screw + 

127 Whaser

Valid for all Speed Self Service (Auto), with serial numbers between 

206462 and 421772

Speed PRO tap detector + Gasket + Magnetic detector-PCB cable Speed-

R

Valid for Speed Pro Self service model, from serial number 420009

S3301041:00

S3301070:00

DIGITAL KEYBOARD KIT 115V

SPEED FEEDER GEARBOX 

UPDATE KIT

SPEED PRO TAP DETECTORS3301121:00

S3301040:00

230V JUICERS MOTOR

MAGNET DETECTOR (24V)

SPEED FEEDER ARTICULATION 

W/P

DIGITAL KEYBOARD KIT 5V

S3301110:00

S3301120:01

S3301080:00

S3301100:00

115V JUICERS MOTOR

(07/03/2018)

Pag. 12 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

L=1000mm Magnetic detector + Nylon nut + Female fast-on (2units) + 

Terminal point

Valid for all Speed machine, until serial number 421962

Speed Pro front cover detectors + DIN 912 Screw (2Units) + DIN 6798A 

Screw (2Units) + DIN 125 Washer (2Units)

Valid for Speed Pro machine, from serial number 420009

Mechanical switch bus

Valid for Speed Basic, Self Service, Tank and Cooler machines until serial 

number 421962

Digital keyboard connection bus

Valid for Speed Digital machines until serial number 421962

Bus PCD -Speed PRO Keyboard

Valid for Speed Pro machine, from serial number 420009

Reducer MVF 49F Rel.1:30 + DIN 933 Screw (4units)

For all Speed machines

Speed PRO S.S tap + Speed PRO Tap Front faucet push + Speed PRO 

Rear faucet push + Screw (2units) + Magnet

Valid for Speed Pro Self Service machine, with serial number between 

420009 and 426320 *This tap is only for use with the juice container 

S3300682:00

Speed PRO S.S DT tap + Speed PRO Tap Front faucet push + Speed 

PRO Rear faucet push + Screw (2units) + Magnet

Valid for all Speed previous to PRO and for Speed PRO Self Service, from 

serial number 426321

SPEED PRO TAP

S3301232:01 SPEED PRO TAP DT

MAGNET DETECTOR 1000mm

S3301231:00

MECHANICAL SWITCH BUS

SPEED PRO FRONT COVER 

DETECTORS

DIGITAL KEYBOARD 

CONNECTION BUS

SPEED PRO / S PLUS KEYBOARD 

CONECTION BUS
S3301161:00

S3301211:00

S3301130:00

S3301140:00

S3301160:00

SPEED REDUCER  1:30

S3301131:00

(07/03/2018)

Pag. 13 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Speed S Plus DT Tap + Plastic Screw (2uts) + Magnet Support + Tap 

support case + D38 Tap Support + DIN 965 Adhesive Screw (2uts) + Din 

965 Screw (2uts) + External Tap Pusher + External Tap pusher cover

Valid for Speed S Plus

Speed PRO Touchpad + Keyboard module + DIN 965 (6units)

Valid for Speed Pro machine, from serial number 420009

Juice container Detector Speed Pro + Board connection wire

Valid for Speed Pro machine, from serial number 420009

ASP Upper pressing unit (2units) + ASP Lower pressing unit (2units) + 

ASP Right peel ejector + ASP Left peel ejector + ASP Blade holder V.2.1 

ASP + Securing knob (4units) + Silicone joint (4units) + ASP Label

For all Speed machines with serial number subsequent to 207530

Squared peel bucket Zumex Speed (2units)

Valid for all the serial numbers of Speed

Speed PRO complete Front cover + Speed adapter (3u.)

Valid for all serial numbers subsequent to 124200 * For serial numbers 

previously to 124200, must be use with the reference S3301130:00 

**Illustrative serial number

Speed S Plus complete Front cover

Valid for Speed S Plus machine (Pulp Out System installed)

Speed PRO Front cover right side output

Valid for Speed S Plus machine and Speed Pro, from serial number 

427322 and for all machines updated with the references of the front cover 

S3301503:00

SPEED PRO KEYBOARD MODULES3301311:00

S3301371:00

S3301234:01

S3301450:00

SPEED PEEL BUCKET (2uts)

S3301504:01

S3301460:00

SPEED S PLUS COVER

S3301503:02

S3301513:01 SPEED PRO RIGHT SIDE OUTPUT

SPEED PRO FRONT COVER

SPEED PRO JUICE CONTAINER 

DETECTOR

ASP UPDATE KIT

SPEED S PLUS TAP

(07/03/2018)

Pag. 14 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Speed PRO Front cover left side output

Valid for Speed Pro machine, from serial number 427322 and for all 

machines updated with the references of the front cover S3301503:00

Speed PRO Front cover adapter (3Units)

Valid for all machines previous to serial number 420008, with the frnt cover 

S3301503:00 installed

Turn Button + Side output lock

Valid for Speed Pro machine, from serial number 427322 and for all 

machines updated with the references of the front cover S3301503:00

Speed S Plus Front cover left side output

Valid for Speed S Plus machine (Plup Out System installed)

Speed Digital keyboard cover v 2.1

Valid for all Speed Digital machines, until serial number 421962

Speed PRO Touchpad

Valid for Speed Pro machine, from serial number 420009

Fastener 50x62x7 + Feeder holder fastener + O-ring + DIN 7981B Screw 

(3units)

Valid for all the serial numbers of Speed

Bolt 8x7x40

Valid for all the serial numbers of Speed

SPEED S PLUS LEFT SIDE 

OUTPUT

SPEED PRO KEYBOARD COVER

S3301516:00 COVER OUTPUT LOCK

S3301600:00
SPEED PLATE SHAFT - 

FASTENER SET

S3301585:00
SPEED DIGITAL KEYBOARD 

COVER

S3301514:01 SPEED PRO LEFT SIDE OUTPUT

S3301515:00

S3301517:01

S3301610:00 SHAFT REDUCER BOLT

S3301586:00

SPEED COVER ADAPTERS

(07/03/2018)

Pag. 15 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Bolt 10x8x25 (4units)

Valid for all the serial numbers of Speed

Intermediate adjustable bridle + DIN 1481 Elastic bolt + DIN 933 Screw 

(4units) + DIN 9021 Washer (4units) + DIN 127 Washer (4units)

Valid for all the serial numbers of Speed

Blade holder rear + Blade holder rod

For machines with serial number subsequent to 207530

Blade holder rear + Blade holder rod Quick extraction set

Valid for all Speed S Plus machines

Metallic lower pressing shaft + Bolt 10x8x25 + DIN 472 Seeger Ring 

(2units) + 6007 Bearing 2RS (2units) + Inner separator + Gear Washer + 

DIN 127 Washer + DIN 912 Screw

Valid for all the serial numbers of Speed

Metallic upper pressing shaft + Bolt 10x8x25 + DIN 472 Seeger Ring 

(2units) + 6007 Bearing 2RS (2units) + Inner separator + Gear Washer + 

DIN 127 Washer + DIN 912 Screw

Valid for all the serial numbers of Speed

Z10 Reducer shaft + Supplement + Bolt 8x7x40 + DIN 912 Screw + DIN 

127 Washer + Gear washer

For all 230V Speed Basic machines and for 115V Speed Tank, Self 

Service and Cooler machines, with number previous to 415632. For all 

230V Speed machines subsequent to number 415631

Z9 Reducer shaft + Supplement + Bolt 8x7x40 + DIN 912 Screw + DIN 127 

Washer + Gear washer

For all 115V Speed Basic machines, with serial number previous to 

415632. For all 115V Speed machines subsequent to serial number 

415631

S3301611:00 SHAFT JUICER BOLT

S3301630:00 BLADE HOLDER SUPORT

S3301670:00 LOWER PRESSING SHAFT

S3301690:00 UPPER PRESSING SHAFT

S3301631:00
SPEED S PLUS BLADE HOLDER 

SUPORT

S3301621:00 SPEED INTERMEDIATE CLAMP

S3301710:00 Z10 REDUCER SHAFT

S3301711:00 Z9 REDUCER SHAFT

(07/03/2018)

Pag. 16 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Z12 Reducer shaft + Supplement + Bolt 8x7x40 + DIN 912 Screw + DIN 

127 Washer + Gear washer

For all 230V Speed Tank, Self Service and Cooler machines, with serial 

number previous to 415632

Board black box + Board box cover + Grey shock absorver (2units) + DIN 

7981B Screw (2units) + Perfil semicircular

Valid for all the serial numbers of Speed

Big plastic gear

Valid for all the serial numbers of Speed

Small plastic gear

Valid for all the serial numbers of Speed

Small metallic gear

Valid for all the serial numbers of Speed

Speed drip tray

Valid for all the serial numbers of Speed

Speed drip tray filter

Valid for all the serial numbers of Speed

Speed Pro EW feeder body + DIN 933 Screw (2units) + Plate shaft + 

Fastener 50x62x7 + Feeder holder fastener + O-ring + Seeger Ring DIN 

472 I-47 + Bearing 6005 2RS (2units) + Seeger Ring DIN 471 E-25 + DIN 

7981B Screw (3units)

Valid for Speed PRO with Excess Water instaled, from serial number 

420009

S3301712:00 Z12 REDUCER SHAFT

S3301720:00 BOARD BOX

S3301730:00 BIG PLASTIC GEAR

S3301740:00 SMALL PLASTIC GEAR

S3301750:00 SMALL METALLIC GEAR

S3301760:00 SPEED DRIP TRAY

S3301770:00 SPEED DRIP TRAY FILTER

S3301781:01 SPEED PRO / S PLUS EW FEEDER

(07/03/2018)

Pag. 17 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Speed Pro feeder body + DIN 933 Screw (2units) + Plate shaft + Fastener 

50x62x7 + Feeder holder fastener + O-ring + Seeger Ring DIN 472 I-47 + 

Bearing 6005 2RS (2units) + Seeger Ring DIN 471 E-25 + DIN 7981B 

Screw (3units)

Valid for Speed PRO without Excess Water instaled, from serial number 

420009

Speed Pro EW feeder (Complete) + Speed Pro Feeder basket + Speed 

Pro Feeder elbow

Valid for all Speed machines, until serial number 421962

Capacitor 16 uF 400V M8

Valid for all the serial numbers of 230V Speed machines

Capacitor 65 uF 400V M8

Valid for all the serial numbers of 115V Speed machines

ASP Right peel ejector + ASP Left peel ejector + Peel ejector Kit 65 

supplement (2units)

Valid for all Speed machines with 65 Kit installed and serial number 

subsequent to 207530

Kit 95 Right peel ejector + Kit 95 Left peel ejector

Valid for all the serial numbers of Speed Pro with the 95 Kit installed

S.Steel rear cover + Protection profile + DIN 125 Washer (4units) + DIN 

912 Screw (4units) + DIN 912 Screw (2units) + DIN 9021 Washer (2units) + 

Allen Cap M5 (2Units) + Allen Cap M6 (4Units)

Valid for all Speed machines, until serial number 421962

Speed PRO S.S. rear cover + Profile + DIN 125 Washer (4units) + DIN 912 

Screw (4units) + DIN 912 Screw (2units) + DIN 9021 Washer (2units) + 

Allen Cap M5 (2Units) + Allen Cap M6 (4Units)

Valid for Speed Pro machine, from serial number 420009

S3301782:01 SPEED PRO / S PLUS FEEDER

S3301790:00 CAPACITOR 16uF MOTOR

S3301785:00
KIT FEEDER UPGRADE SPEED 

PRO

S3301791:00 CAPACITOR 65uF MOTOR

S3301800:00 ASP KIT S PEEL EJECTORS SET

S3301803:00 KIT L PEEL EJECTORS SET

S3301830:00 SPEED STAINLESS REAR COVER

S3301831:00 SPEED PRO REAR COVER

(07/03/2018)

Pag. 18 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Front cover support

Valid for all Speed machines, until serial number 421962

Speed PRO Front cover support + Speed PRO cover retaining knob

Valid for Speed Pro machine, from serial number 420009

Speed PRO Front cover upper support + Speed PRO cover retaining knob

Valid for Speed Pro machine, from serial number 420009

Soporte cubierta frontal Speed PRO + Pomo cubierta Speed PRO Anti 

Salpicaduras

Valid for Speed PRO with kit Cover Plus installed.

Feeder support + DIN 912 Screw (2units) + DIN 125 Washer (2units)

Valid for all Speed machines, until serial number 421962

UE Cable W/Plug + Triple cable gland + Isolate round terminal + Male 

faston W/Retain + Female three way connection box + Male faston 

protector + Heyco press + Ground wire + DIN 7985 Screw + DIN 6798A 

Washer + Ferrite
Valid for all UE Speed machines, until serial number 421962

GB Cable W/Plug + Triple cable gland + Isolate round terminal + Male 

faston W/Retain + Female three way connection box + Male faston 

protector + Heyco press + Ground wire + DIN 7985 Screw + DIN 6798A 

Washer + Ferrite
Valid for all GB Speed machines, until serial number 421962

UL/JAP Cable W/Plug + Triple cable gland + Isolate round terminal + Male 

faston W/Retain + Female three way connection box + Male faston 

protector + Heyco press + Ground wire + DIN 7985 Screw + DIN 6798A 

Washer + Ferrite
Valid for all UL Speed machines, until serial number 421962

S3301840:00 SPEED FRONT COVER SUPPORT

S3301841:00
SPEED PRO FRONT COVER 

SUPPORT

S3301850:00 SPEED FEEDER SUPPORT

S3301842:00
SPEED PRO FRONT COVER 

UPPER SUPPORT

S3301843:00
SPEED PRO FRONT COVER AS 

SUPPORT

S3301860:00 SPEED UE CABLE

S3301861:00 SPEED GB CABLE

S3301862:00 SPEED UL/JAP CABLE

(07/03/2018)

Pag. 19 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

AUS Cable W/Plug + Triple cable gland + Isolate round terminal + Male 

faston W/Retain + Female three way connection box + Male faston 

protector + Heyco press + Ground wire + DIN 7985 Screw + DIN 6798A 

Washer + Ferrite
Valid for all AUS Speed machines, until serial number 421962

Speed Stainless steel front cover

For all Speed Basic, Tank and Cooler machines with serial number 

between 218197 and 421962

Speed Self service Stainless steel front cover

For all Speed Self Service machines with serial number between 218197 

and 421962

Speed S Plus Stainless steel front cover

Valid for Speed S Plus machines

Base elevation supplement

For machines placed in countertop, Speed Self Service (Auto), from serial 

number 218198 and Speed Self Service Pro, from serial number 420009

Digital Keyboard box/cover + DIN 912 Screw (4units) + Allen Cap M4 Grey 

(4units) + DIN 7991 Screw (10units) + DIN 934 Nut (6units) + Separator 

Casing (6units) + Button cushion (7units) + GPN 270 cap (2units)

Valid for all Speed Digital machines, until serial number 421962

Base IEC fuse + DIN 965 Screw (2units) + Fuse 5x20 10A (2units)

Valid for Speed Pro machine, from serial number 420009

Schuko 90º Power supply cable

Valid for UE Speed Pro machine, from serial number 420009

S3301872:01
SPEED S PLUS STAINLESS 

FRONT COVER

S3301870:00 SPEED STAINLESS FRONT COVER

S3301871:00
SPEED SELF SERV. STAINLESS 

FRONT COVER

S3301920:00

S3301880:00
SPEED SELF SERVICE 

ELEVATION BASE

S3301890:00
SPEED DIGITAL KEYBOARD 

SUPPORT

S3301910:00 SPEED PRO SOCKET BASE

SPEED PRO EU-IEC CABLE

S3301863:00 SPEED AUS CABLE

(07/03/2018)

Pag. 20 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Schuko 90º UL Power supply cable

Valid for UL Speed Pro machine, from serial number 420009

Schuko 90º GB Power supply cable

Valid for GB Speed Pro machine, from serial number 420009

Schuko 90º AUS Power supply cable

Valid for AUS Speed Pro machine, from serial number 420009

Speed PRO Tap Front faucet push + Speed PRO Rear faucet push + 

Screw (2units) + Countersink Screw (2units) + Magnet

Valid for machines Speed Self Service (Auto) and for Speed PRO Self 

Service model. Part common for taps S330123X:XX

Plastic Screw (2uts) + Inner Tap Pusher + Inner Tap pusher cover

Valid for Speed PRO Self Service model from serial number 420009. Part 

common for taps S330123X:XX

Speed PRO tap spring

Valid for Speed PRO Self Service model from serial number 420009. Part 

common for taps S330123X:XX

Speed PRO DIN 6325 S.S Tap bolts (2Units) + Speed Pro DIN 6325 S.S. 

Tap bolts (2Units) + Speed Pro DIN 6325 S.S. Tap bolts + DIN 966 Screw 

+ DIN 965 Adhesive Screw (2Uts)

Valid for Speed S Plus and Speed PRO Self Service model from serial 

number 420009. Part common for taps S330123X:XX

Speed PRO tap gaskets Set

Valid for Speed Pro Self Service machine, with serial number between 

420009 and 426320. Part exclusive for tap S3301231:00

S3301932:01 SPEED PRO TAP BOLTS KIT

S3301933:00

S3301922:00 SPEED PRO GB-IEC CABLE

S3301930:00 SPEED PRO  TAP PUSH UNIT

S3301931:00 SPEED PRO TAP SPRING

S3301930:01 SPEED PRO TAP PUSH UNIT

S3301923:00 SPEED PRO AUS-IEC CABLE

KIT SPEED PRO TAP GASKETS

S3301921:00 SPEED PRO UL-IEC CABLE

(07/03/2018)

Pag. 21 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Speed PRO tap extender fix ring

Valid for Speed Pro Self Service machine, with serial number between 

420009 and 426320. Part exclusive for tap S3301231:00

Speed PRO Tap Selector spring + DIN 965 Screw

Valid for Speed PRO Self Service model from serial number 420009. Part 

common for taps S330123X:XX

Speed PRO tap Press lever + DIN 965 Screw (2Units) + Speed Pro DIN 

6325 3X14 S.S. Tap bolts

Valid for Speed Pro machine, with serial number between 429609 and 

445224.

Black magnet protection + ND-35 EPOXI Magnet + Front Tap Magnet 

support + DIN 965 Screw (2Uts)

Valid for all Speed S Plus machines

Speed PRO Sweeper brush + Rod slider

Valid for Speed PRO Tank and Self service with sweeper, from serial 

number 420009

Rod slider

Valid for Speed PRO Tank and Self service with sweeper, from serial 

number 420009 *This slider is placed inside of brush sweeper.

Speed PRO Sweeper brush + Rod slider

Valid for Speed PRO with kit Cover Plus installed.

Plastic Screw (2uts) + External Tap Pusher + External Tap pusher cover

Valid for Speed S Plus

S3301942:00 SPEED PRO AS SWEEPER BRUSH

S3301935:00
SPEED PRO TAP SELECTOR 

SPRING

S3301940:00 SPEED PRO SWEEPER BRUSH

S3301936:00 SPEED PRO TAP LEVER

S3301937:00
SPEED S PLUS MAGNET 

SUPPORT

S3301934:00 SPEED PRO FIXING RING

SPEED SWEEPER SLIDER

S3301945:00 SPEED S PLUS TAP PUSH UNIT

S3301941:00

(07/03/2018)

Pag. 22 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Tap support case + D38 Tap Support + DIN 965 Adhesive Screw (2uts)

Valid for Speed S Plus conf standard

Tap support case + D34.4 Tap Support + DIN 965 Adhesive Screw (2uts)

Valid for Speed S Plus conf US / TC

Tap support case + D36 Tap Support + DIN 965 Adhesive Screw (2uts)

Valid for Speed S Plus *Support diameter 36mm

Speed Restyling Module 90-240V (Basic Configuration)

Valid only for machines Speed PRO Basic, from the serial number 420009

Speed Restyling Module 90-240V (Self service Configuration)

Valid only for machines Speed PRO Self Service, from the serial number 

420009

Speed Restyling Module 90-240V (Tank Configuration)

 Valid only for machines Speed PRO Tank, from the serial number 420009

Speed Restyling Module 90-240V (Cooler Configuration)

Valid only for machines Speed PRO Cooler, from the serial number 

420009

SPEED PRO TANK ELECTRONIC 

MODULE

S3301953:01
SPEED PRO COOLER 

ELECTRONIC MODULE

S3301950:01
SPEED PRO BASIC ELECTRONIC 

MODULE

S3301951:01
SPEED PRO SELF SERV. 

ELECTRONIC MODULE

S3301952:01

S3301946:00

S3301947:00
SPEED S PLUS D34.4 BOTTLES 

TAP SUPPORT

SPEED S PLUS D38 BOTTLES TAP 

SUPPORT

S3301948:00
SPEED S PLUS ZUMEX BOTTLE 

TAP SUPPORT

(07/03/2018)

Pag. 23 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Speed-R2 Module 90-250V (Self Service Configuration)

Valid for machines Speed S Plus Self Service

Speed-R2 Module 90-250V (Tank Configuration)

Valid for machines Speed S Plus Tank

Juice container profile

Valid for all Speed PRO Self Service and Tank machines, from the serial 

number 420009

Tank Cooler detector sheet + Tank Cooler detector gasket + Juice detector 

+ Expander head (4units) + Heyco Expander (4units)

Valid for all Speed PRO Basic and Cooler machines, from the serial 

number 420009

IEC-Mainboard wire Speed PRO

Valid for Speed Pro machine, from serial number 420009

Speed front cover silicone profile

Valid for all front covers of Speed

Speed Pro Filter rod + Speed Pro Filter lock + Speed Pro sweeper latch + 

Speed Pro Filter right limit + O-ring + DIN 965 Screw (2units)

Valid for Speed PRO Tank and Self Service, from serial number 420009

Speed Pro Filter lock + Speed Pro sweeper latch + Speed Pro Filter right 

limit + O-ring + DIN 965 Screw (2units)

Valid for Speed PRO Tank and Self Service, from serial number 420009

S3301970:00

SPEED PRO / S PLUS IEC-

MAINBOARD CABLE

SPEED FRONT COVER PROFILE

S3301960:00

S3301954:00
SPEED S PLUS SELF SERV. 

ELECTRONIC MODULE

S3301955:00

S3302010:00 SPEED PRO SWEEPER KIT

S3302011:00 SPEED PRO SWEEPER LOCKS KIT

S3301980:00

S3302000:00

SPEED PRO TRAY PROFILE

SPEED S PLUS TANK 

ELECTRONIC MODULE

SPEED PRO JUICE LEVEL 

SENSOR

(07/03/2018)

Pag. 24 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Latch sheet + Latch fastener + Latch fastener Washer + Latch Spring + 

DIN 933 Screw (2units) + DIN 125 Washer (2units) + Din 127 Washer 

(2units)

Valid for Speed PRO Tank and Self Service, from serial number 420009 

**Machine rear view

Latch sheet + Latch fastener + Latch fastener Washer + Latch Spring + 

DIN 933 Screw (2units) + DIN 125 Washer (2units) + Din 127 Washer 

(2units)

Valid for Speed PRO Tank and Self Service, from serial number 420009 

**Machine rear view

Protector cable acodado + Tornillo DIN 965 (2Uds) + Perfil Protección

Valid for Speed Pro machine, from serial number 420009

Speed Pro ON/OFF - PCB cable

Valid for Speed Pro machine, from serial number 420009

Speed Pro LED ON/OFF - PCB cable

Valid for Speed Pro machine, from serial number 420009

Cable support (4Units) + DIN 912 Screw (4Units) + DIN 125 Washer 

(4Units)

Valid for Speed Pro machine, from serial number 420009

27mm Cable support with clip (4Units)

Valid for Speed Pro machine, from serial number 420009

DIN 913 Stud M4 (2Units) + Self Service and Tank gearbox insert (2Uds) + 

DIN 913 Stud M6 (2Units) + M10 Speed Pro juice tray Stud

Valid for Speed PRO Tank and Self Service, from serial number 420009

SPEED PRO CABLE SUPPORT 

SET

SPEED PRO RIGHT LATCH

SPEED PRO GEARBOX SUPPORT 

CABLE

S3302012:00 SPEED PRO LEFT LATCH

S3302040:00

S3302020:00

SPEED PRO LED - PCB CABLE

SPEED PRO STEEL TRAY INSERT 

KIT
S3302052:00

S3302030:00 SPEED PRO ON/OFF - PCB CABLE

S3302013:00

SPEED PRO CABLE PROTECTOR

S3302050:00

S3302051:00

(07/03/2018)

Pag. 25 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

DIN 913 Stud M4 (2Units) + Self Service and Tank gearbox insert (2Uds) + 

DIN 913 Stud M6 (2Units) + M10 Speed Pro juice tray Stud

Valid for Speed PRO Basic and Cooler, from serial number 420009

Slider case

Valid for Speed PRO Self Service model, from the serial number 420009

EW Inner tube + 27 O-Ring + 45 O-Ring + Steel Clamp + Nylon Nut 

(2Units) + EW Drain + Waste hose

Valid for Speed PRO Tank and Self Service, from serial number 420009, 

with EW system installed.

EW Inner tube + 27 O-Ring + 45 O-Ring + Steel Clamp + Nylon Nut 

(2Units) + EW Drain + Waste hose

Valid for Speed PRO Tank and Self Service, from serial number 420009, 

with EW system installed.

Sweeper frame + Sweeper label shaft 2.8mm (2uts) + Sweeper label D3.5 

+ Sweeper label Injection cover + Sweeper antisplashing door + Sweeper 

label output cover

Valid for Speed S PLUS machines (Auto sweeper installed)

Motor cover + Motor shaft support + Radial fastener + PLastic bearing + 

Motor spring + Motor case shaft + Motor coupling + Oval Motor + DIN 

6798A Washer (6uts) +  Plastic Screw (4uts) + Motor box + DIN 125 

Washer (6uts) + DIN 7985 Screw (4uts)

Valid for 230V Speed S PLUS machines (Auto sweeper installed)

Motor cover + Motor shaft support + Radial fastener + PLastic bearing + 

Motor spring + Motor case shaft + Motor coupling + Oval Motor 115V + DIN 

6798A Washer (6uts) + Screw (4uts) + Motor box + DIN 125 Washer (6uts) 

+ DIN 7985 Screw (4uts)

Valid for 115V Speed S PLUS machines (Auto sweeper installed)

Sweeper label shaft 2.8mm (2uts) + Sweeper label D3.5

Valid for Speed S PLUS machines (Auto sweeper installed)

S3302105:00

S3302090:00 SPEED S PLUS PULPOUT SET

S3302110:00
PULP OUT SYSTEM SHAFTS AND 

FILTER

S3302053:00

S3302060:00 X

SPEED PRO PLASTIC TRAY 

INSERT KIT

S3302100:00

SPEED PRO SELF SERVICE TRAY 

SLIDER

S3302070:00 LONG ANTISPLASH

S3302054:00

SPEED PRO DRAIN TUBE SET

PULPOUT MOTOR SET 115V

PULPOUT MOTOR SET 230V

(07/03/2018)

Pag. 26 - 27



REF. DESCRIPTION COMPOSITION FOTO

SPARE PARTS CATALOGUE 2018

SPEED

Sweeper label Injection cover + Sweeper antisplashing door + sweeper 

label output cover

Valid for Speed S PLUS machines (Auto sweeper installed)

Sweeper antisplashing door

Valid for Speed S PLUS machines (Auto sweeper installed)

Sweeper label output cover

Valid for Speed S PLUS machines (Auto sweeper installed)

Sweeper label Injection cover + Sweeper antisplashing door + Sweeper 

label output cover

Valid for Speed S PLUS machines (Auto sweeper installed)

Motor case shaft + Motor coupling

Valid for Speed S PLUS machines (Auto sweeper installed)

Drean Clean Brush

Valid for Speed PRO Tank and Self Service, from serial number 420009, 

with EW system installed.

Speed S Plus rear support

Valid for all Speed S Plus machines

Speed S Plus front support

Valid for all Speed S Plus machines
S3302222:00

S3302160:00 

BLACK
PULPOUT SYSTEM COVER KIT

S3302210:00
SPEED S PLUS 1 STEP REAR 

SUPPORT

S3302130:00 

BLACK

PULPOUT SYSTEM ANTISPLASH 

COVER

S3302140:00 

BLACK
PULPOUT SYST. OUTPUT COVER

S3302120:00 

BLACK
PULPOUT SYSTEM FILTER COVER

S3302170:00

S3302201:00 DREAN CLEAN BRUSH

SPEED S PLUS 1 STEP FRONT 

SUPPORT

PULPOUT SYST. MOTOR SHAFT

(07/03/2018)

Pag. 27 - 27


